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Match List I with List II. List I gives Modes of \
Communication while List II provides their

B i v, 9 (A0, BHD, 1, DMV
List/g=n-1 List/gh-11 (b) (A)-(1D), (B)-(111), (C)-(IV), (D)-(I)
Modes of escription/fara¥ur ' ' ' [

| T (€) (AM{1V), (B, (CH{1I, (DMID
o | SO (A, BIHIV), (K1), ()
(A) |Publicity/99R | (1) |Reputation______ - — . — .
management
\ / Hﬁr@gua‘atr

(B) |Propaganda (11) |Paid message
AR g A9

(C) [Advertisin (i\{ Non-commercial
fasa= promotion

\ [ aforfsers e

(D) [Public f (iZ) |Communication  with

relations motives

Choose the correct answer from the options
given below:

“Frer fa 1= faereat © 9 W 31 9T




Given below are two statements :

Hrer =r v fag 1@ 2 -

Statement/<RerA (1) :

It 1s possible that there are 53 Tuesday 1n a non-
leap year/dg8 99 2 fopsht ix-safgad (a3 =g 2=20)
H HTera a5t @l

Statement/aqRera (11) :

In a non-leap year, there are 54 of each day plus

one extra day/fehElt fiz-sifead d s faa 54 I
T & 3K uwss srfafiss fa= gmar 21 RS —

In the light of the above statements, choose the
correct answer from the options given below :

Sud<h heAl ok 3TTeleh O faaitera faskoat &

o TEr S9T =1

(a) Both Statement I and Statement Il are true
e 1 3T 11 <=1 98 &1

(b) Both Statement I and Statement Il are false

o 1 37X 11 |41 Tad g1

( Statement I 1s correct but Statement 11 1s false
T 1 9= 2 fohg == 11 7Tara 21

(d) Statement 1 1s 1ncorrect but Statement II 1s
true/aHA= 1 379 8 foha 2= 11 9T 21




S

Kavita collected 8 spiders (with 8 legs each)
and beetles (with 6 leg each). When she counted
the legs, she found that there were altogether
S54. Which of the following is/are true?

ShHifaar 4 8_gapfsat (Uieh 8 T3 areil) 1T o T
(F=ieh 6 O3 aTeT) Wehtaa fehu)l oiar @ O okt
fraet =5 A uTaT e Sae wer deeT ?.
foateriiaa o @ shia-9r/ahia-o 91 €2

(A) She collected 5 spiders/39 5 HHfSAT TWshfAd T
(B) She collected 3 s.piders/SFI_-\-T 3 Akl WhiEd T
(C) She collected 5 beetles/39 5 9T WahfaAd ohi |
(D) She collected 3 beetles/39= 3 I Wahfad ohi |

Choose the correct answer from the options
given below:

fier o= 1= fasseat @ 9 Tt s i
(a) (A) and (C) only/ahda (A) 3 (C) only

(c) (B) and (D) only/ahaa (B) 371X (D) only
(d) (B) and (C) only/ahadd (B) 31X (C) only

A J

(b) (A) and (D) only/ahadd (A) 31X (D) only /




Complete the series : @

fafefiaa 3ieh T &l T &Y ¢
2,5,9,19, 37, ......

(a) 75 (b) 76
(c) 77 (d) 78




hour hand and minute hand of a clock

together?
2 37X 3 ot o sft=r forddt ot & ©ie &t 43 3R

fire =t 93 ford 9o ek are grft?

(a) loﬂmln past 2/2 dSThl 10% e @

At what time between 2 and 3 o'clock will the @
/

\/) 10—m1n past 2/2 &STehY 10% e o

() llﬁ min. past 2/2 sSlehi 11% e

(d) 11 min. past 2/2 dsieht 11 fHH2 I




The average of seven consecutive numbers is

33. The largest of these numbers is
AT shitich TSt o 39d 33 S0 A Haw |
a?:ﬂ' & @Tﬁ : @ \

(a) 39 (b) 34 A3
L’ 7
c) 36 / (d) 38 " *,,«.v’\@




The second member of the Nyaya syllogism p\‘u,,
which states the reason for the establishment of

/}’J”;(
the proposition is called @ =

E YA W I @l el

STINETET S TATIAT @% S1e)

haT STl &-

V
(a) Pratigya/Sfcsi @Hetu/%ﬁ; >

(¢) Udaharana/3<IgtUT  (d) Upnaya/394d

=




In the argument, 'sky flower is fragrant \/
because it is a lotus e.g. which ever is lotus, is %
fragrant e.g. lotus growing in that pond'

Mention the type of fallacy from the following:
CWW%Wuamum%l @
ISTEIUT oh TTT ST oft shoteT gt § a8 gafaa

AT 8, S feRdt ararsr ®§ ST aTAT ShAeT |
3H deh W famaferfiaa o @ foea goarymd &t AT

oo feRaT AT ¥ - @ /l/
(a) Swaroopasidha/TT&EITE O \/

(b) Ashryasidha/3$a g V
(¢c) Vyaptytvasidha/aAT

(d) Virudha/fasg




%mém%ma—aﬁt—llg’aﬁa—ﬂ‘

=TI=aT =S IS 2 o 0\
List/3Ix=it—1I List/F=t—11
(a) |Asidha/a33a= (1) |Here the middle term is

contradicted

=TOH WSk ad_ =993 &8d ShT
f=Irearar= Srar 2

(b)) |Savvabhicharn (11) |Here the middle terrm i1s

contradicted by some
other pramana and not by

1nference/€@ﬁ =2d =ht fairsy
FeprTT BT ST =147 9 SIsh<L
SE<IT 31— 99ToT =1<1 =47 = |1

i}iz It 1s the fallacy of the
irregular middle

== =g g BT SR 21
(dA) | Badhita iv)|It 1s the fallacy of the
IS / \ unproved middle

e ATHs_8g_=H1 STy 2

Choose the correct answer from the options
given below :

—r=r f==x 3 7=r fSresarl ¥ O TEr S99 =S+ shiftsrac:
(a) CAID, (B)A1), (C3-(IT1), (1D)3-L(I)

(b)) AH(IILD), (B)—(I'V), (C)—(11), A (ID>)—(I)

(c) (ADY-(D. (B))-dD. (O-(OV). (D)H)-dI1ID

(<3) CATV). (B)—(IIL). (CT)H)(I). (D)—(II\)/

(o) |Satpratipak a
Oauafaga=sy

-




o o1 e U U ;U @t e (A

A T (R T O

Assertion/3TTGReH (A) :

Indian Philosophy has been intensely spiritual ang
has always emphasize need of practica
realization ou_utﬁzﬂﬂ'rﬁ'q A By
eAfers @1 8 3R 399 GHem & O 3 eI
fifg @ smavad W 90 foar T 2|

Reason/eh R): ~ \

The word 'darshana’ means 'vision' and also th
instrument of vision which stands for the direc
immediate and intuitive vision of Reality and als
includes the means which lead to this realization

‘agf’ weg @ Ifura Sfy ar ey o wrew @ S
g & WHRT, dIichifolsh Wd 3id:9cHeh gf¥ oAl
Tideh & deT EH 98 Hiuehe I e @ S g9
Fqufd A A ST 21 \S

In the light of the above statement, choose the

most appropriate answer from the options
given below :

SUd<h hAAT oh 3TMCleh O AAieha faehedt o
¥ waifirer Sug<h SO =4 :

a) Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) 3 (R) =t
& € 3 (R), (A) & T& =R 21

(b) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A)/(A) 3R (R) e
& € 9 (R), (A) T 981 =Ra 78 2|

(¢) (A) 1s correct but (R) 1s not correct

(A) T & 9 (R) 9l &1 &1
(d) (A) 1s not correct but (R) 1s correct

(A) T&r & @ 9% (R) T&r €1




Statement/aheTA (1) :

In Indian Philosophy, Nyaya advocates the theory
of extrinsic validity of knowledge called "Paratah

Pramanyavada' /I &30 # =" ;9 6 ST

Juar o1 gl 2 ™9 gLa:gq g hal Srar 2 |
Statement/eheIA (I1) : -

The Mimansa advocates the elf-validity of

knowledge both 1n respect of 1its origin and

ascertainment/3cdf 39X fagfwor &5 =fy 9 f=man

T BT TS Judr 51 gufss 2 |

In the light of the above statements, choose the
most appropriate answer from the options

given below :

Sud<h ShelAl oh 3TTclleh W ToiAticha faekear #

o IUITh ST = :
Both Statement I and Statement Il are correct
HU=T 1 3R 11 ST 91 2|

(b) Both Statement I and Statement II are
incorrect/&he 1 39X 11 ST T2l 987 & |

(c) Statement I 1s correct but Statement II is
incorrect/s9= 1 92T 2 fohg o= 11 &t =T &1

(d) Statement I 1s 1ncorrect but Statement II is

correct/&ha— [ T& AT @ fehd sher 11 9l g




Microsoft Access, Oracle and SQL are example of

ATEhIEToE Ted, 3MRed iR T3 &= ua
frafaRaa o o feraas 3gTEwT 82 @
(a) File Data Base/WIgd SI<] ag \

|(b) Relational Data Base/taieet €T 919
(c) Template/2Tcie

(d) Attribute/31gsge




Operating system is an interface between/
M fen fmfafaa # ¥ foae o=
ST &7

(a) Software and hardware/STFdaX 3R g dR
(b) Compiler and hardware/hHTg¢IY 3T BT
(rc) User and Computer/Fsi{ AR mwﬁ@

(d) Program and software/STaH 3R HrdaR




Which technology is used for crypto currency?

fFet e 3 fhe e @ g

HATAT &7
(a) Java/Sian @
((b) Block chain/&@id 3 ) v
(¢) Block code/sish hie
o

(d) Python/drsg (b\\(/




Statement/<H20 (1) :

Internet 1s the largest imnformation base and has(\{
become a vital part of our lhives )
SeTaS 4T ST 999 g9=T 1L, @ 3T I8 891
STa=T =T Asg49oi 3337 = 37137 =2 |\/
Statement/<hReTd (1) :

HTMILI. 1s an incomplete code package that allows
a user to create web pages/H T ML TUWsh _3AEX0 Hi=
Tahst @ S S9IhT S0 9o OsT S917T S S9714aT1 2 |

In the light of the above statement, choose the
correct answer from the options given below:

Tadch helAl oh 3TTellah ° araifeha fasksear &
= HET ST ?—l:a' ~
(a) Both Statement I and Statement II are true
sHer=T 1 39T 11 <=1 98T &1
(b)) Both Statement I and Statement I1 are false
ST I 371X 11 =191 3T 21
\(j)’{ Statement I 1s correct but Statement 1II 1s false
T 1 O @ g s 11 3Taa 21
(d) Statement 1 1s 1ncorrect but Statement II 1s
true/sFTT 1 379 =2 Shg =527 11 9T 21




Full form of the abbreviation CPS is :
CPS faafaiiga # 9 feruent wfara wu g2
(a) Computer Program Software G
HORX ST HRR \/ /
(b) Control Process Software
(c) Cyber Physical Software
e ffsrrer Gieaer

\/Ld')/Cyber Physical System/STEsR ffehar feed




Which of the following conventions protocol

originated from Rio Earth Summit?

Scata Tar g2t ey e 9O g2 72

C UN Eramework convention on climate change
STeraryg afigda 93<h U ShHaddch oh-d 20

(B) Ramsar convention on wetlands

\/6) UN convention to combat desertification

AETASIHLOT HI UHATH o fQ Sg<6 U FHa 9

(D) Kyoto Protocol/aFTI2T HIZIshic

) Convention on Biological Diversity

Sa-fafaygar daeh ss=a 914

Choose the most appropriate answer from the
options given below:

firer fe=r =2 faspeat # 9O & s=T =g
(a) (A), (B) and (E) only/sha&l (A), (B) 3 (E)
(b) (A). (CO) (D) and (E) only
HaA (A), (C) (D) IR (E)
V(é (A), (C) and (E) only/shaal (A), (C) 31X (E)
(d) (B), (C) (D) and (E) only
Haa (B), (O), (D) AT (E)




Which of the following goals are part of

Sustainable Development Goals? ,
Choose the correct answer from the options

ﬁﬁﬁ#ﬁaﬁﬁﬁﬂ?ﬁmmmﬁﬁ given below :

gt §7 et fog T fasedl § © W& 3T IH9 ¢
. (a) (A), (B), (C) and (D) onl
(A) Industry Innovation al?d [nfrastructure (@\ ) Faet (A), (B),H(C) @IO IES)
T, AR R e Vd (A), (C), and (D) only/ad (A), (C) 3R (D)

(¢) (A), (B), (C) and (E) only

(B) Universal higher education
&ad (A), (B) (C) 3R (E)

Mt Q (@ (B), (C), (D) and (E) only
(C) Reduced Inequality/3rammar § &4 %ae (B), (C) (D) 31 (E)
(D) Partnerships to achieve goals | S N
T I FE & fou e

(E) Clean air/@w 919




Arrange the following countries in increasing
order of their installed capacities of wind

energy (as on 2018)
f=feaRaa 29m =t wﬁ@ ohi deermfua

a7aaT ( 2018 oht Terfer <% algﬂ'r{‘)ﬂ

‘{@' - @

(AYXChina/=i= ) (B) India/sTd &
(C) USA/Z TH T &) (D) France/se(})
(E) Germany/SiHT Qa)
Choose the correct answer from the options
given below :

i=r fo=r 2 foaeseat § ¥ @&t s =y -

(a) (D) <(E) <(©O)<(B)<@A)

(b) (D)< (E)<(B)=(C)=<(A)

(© (D) <(B) < (E)<(©) <@K)/

(d) (E)<(D)<(B)<O)<A)

£




Given below are two statements :

HFiarrwmaa fTu T T :

Statement/<h< (1) :

Sunlight 1s a pre-requisite for the formation of
photochemical smog in urban areas

8 &= # gy ugEafae g -sied & fAafor &
forw 9= =1 g9 us gataan 21

Statement/ah = (II) : -

Photochemical smog i1s a recurring phenomenon 1n
winter and summer seasons i1n urban areas of India

ga-®Higd 9Rd & vEd &= A
sTasre sHehIeT H§ aR-a 84 areil gfisear 21

In the light of the above statements, choose the

most appropriate answer from the options

given below : . o

SULTh heAl oh 3TTeileh O fa=ifera faseear o

o T 39T oA

(a) Both Statement I and Statement II are true
HIT 1 37 11 ST &t 2

(b) Both Statement I and Statement Il are false

ST I 3 11 <=1 TTod 2 |

(22)




Assertion/3I3TaRHer— (A) :
Global warming potential of a molecule of a

greenhouse gas over different time spans of
decades to 100 yvears may vary significantly °J-/
FITHT T =hT 100 Fuf o ASIT-3Ta3T SaAaual o )(“/
T BIST AT o AUt _dfwss a9 o gfs e 5T 07’ q’\
BTHAT_H ohlhl 3Ad< &1 Hehdl 2 |

Reasonlt_—lﬁ-—? (R) :
Some greenhouse gases hawve shorter life times

compared to carbon dioxide/sH=> IMaa1Se 3Gl =kt M‘w'
STia—ahicT Shiad SIS 3ATadissS ohl AT o =HhH Sar 2| ‘\}‘ r/o /
In the light of the above statements, choose the
most appropriate answer from the options

given below : *W V
E=) SOk ST =S -
Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)/(A) 3FIT (R) ==l
& @ 31T (R), (A) K OE ==3==r 8T
(b)) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A)/(A) 39T (R) =141
& @ 9%d (R), (A) KT I =a=ar a1 2 |
(c) (A) 1s correct but (R) 1s not correct
(A) I&T @ 9ad (R) & =& 21

(d) (A) 1s not correct but (R) 1s correct

(A) & 98T @ 9= (R) =T 21

A




Statement/<sheT—+a (1) :
Universities of Nalanda, Takshila, and

Vikramshila of ancient India are no cated 1n
the Indian Territory/ST=ia «Xd <h %ﬁ?ﬂﬁ'lw
A faspaRaag & o= asda=a § =t saaair=
& O stafiera 2 7S

Statement/<sh2T9 (I11) :

ancient seats of learning of India/sXa =5 4= ==
FH=0 T _TIIT =9 T940_SHIL_SHT IIIT 99=Ir SR 9|

In the light of the above statements, choose the
most appropriate answer from the options
given below

SOk ShedAl oh 3ATAlah O faOraifoeea faokearl
o aifares SOdI<k S9< =S ¢
(a) Both Statement I and Statement Il are correct

g 1 L 11 =491 931 21

(b) Both Statement I and Statement II are

incorrect/=Hh=I= I 3H1L II <91 9&l =&t & |
(c), Statement 1 1s correct but Statement 1II 1is
\(d/)

The entrance test of 1ts own kind was prevalent in th\e/

incorrect/=ha= 1 T3l © fohg o= 11 931 321 21

Statement I 1s 1ncorrect but Statement 1II 1s

correct/sha= 1 W&l &1 © fohg =H== 11 |21 21




Atal Ranking of Higher Education Institutes
and Universities is related to achievements in
Ioor rerr d@eemar 3t fagfaemeasn =t 31eaT
Iferr Fafafaa & @ fora Suefersi o @t
Tt &7

) . 34
(a) Basic sciences research/Hifeiss famm s1qdu=

’)/1)\()7 /. /\

() Innovation and entrepreneurship development A Y
TR 3R Iufar faes ’21\;)};)&/
(c) Distance mode education/a3¥ T¥reqr wfafer

(d) Promotion of environmentally sustainable
practices

qfawi ®9 ¥ SURoia ggfaal &1 dada




Which of the basic values which can be
characterized by the central motivational goal
are related to self transcendence?

S I Twa (e gisw) ¥ syt
HA-U FAEE Ted  ATHITANAT  (Weth-

A = 5
ZieH) ﬁw%. @
(A) Conformity/3TJ&YdI

(B) Power/3Tth

)
(C) Benevolence/Hg34dl
(D) Universalism/@resifiear

(E) Hedonism/q@dra

Choose the correct answer from the options

given below :

et fear T foshedt o ¥ W I 9
() (A) and (B) only/@a (A) 3R (B)

() (C)and (D) onlvld

(b) (B)and (C Only/avﬂ?{( )aﬁi (C)
e (C) 3 (D)
( ) and onlym (D)aﬂT (E)




Given below are two statements : %
=fr=r =r ssoa= g I1g & I: 'D
Statement/<hReTA (1) : /

Holistic education in ancient India was not just
acquisition of knowledge as preparation for life in
this world or life bevond schooling but for
complete realisation and liberation of the

self/ST=ia 9ad o YHAishoadrael ¥ =shr 3239 59
O # STaa s72ar faznmea=it f3mar &5 s= &5 Sshaa
HT T HIA B FAEATSIA HIAT BT AET o7 Sfess gof
ATH A a gith Sy shIAar &AT|
Statement/<xhaaT (11) :

Values of pluralism, mutual understanding and
peace constituted the foundation of holistic

education during ancient education/sTar=a f3m=ar 5
O Fgoars, AT9EH 9ast 3 gTifa Sreheaarsr
Rraar 57 g 9= SBIa 2

In the light of the above statements, choose the
correct answer from the options given below:

Sad<h SheAl ok 3TTEleh H faaiftesa f&@akear #

= ST =S -

(a)y/ Both Statement I and Statement Il are true
S 1 3T 11 <=1 GEr 2

(b) Both Statement I and Statement 11 are false
ST I L 11 <41 Taad 2 |

(c) Statement I 1s correct but Statement II 1s false
Hoa 1 9= 2 fohg 99 11 7Taaa 21

(d) Statement I 1s incorrect but Statement 11 1s
true/HAT 1 37T @ fohg ssa= 11 9T 2




Question Label : Comprehensioh

Read the passage carefully and answer questions
from 46 to S0

'‘Being value-centred 1s important to the experience of
fulfillment i my life' : Here the thought has the stamp of
the core concept of 'value-centred' and 'fulfillment’. This
1s good. However, it has yet not moved into creative
imagination of how this can be made possible in reality.
Thus, 1t runs the risk of becoming an opinion or simply, a
nice thought. 'A value-centred life 1s tough n today's
world'. This thought formation could arise from a past
experience where life was made difficult by being value-
centred. Also, there could be stories and imagined
scenar1os being created in the mind, 'what 1f ....", 'what if
not...", etc. This could be related to the comfort-seeking
nature of the senses and a part of the vital life-force that

wants to take the easy way out. If one's core essential

concept 15 fulfillment, these imaginary formations can be
halted and the thought can be frozen. Now one can note
that without the clanty that the core principle is
'fulfillment’, this imagination will often be allowed to
fashion and complete its formation. This in turn, will
affect the quality of our life and the choices made then
may not serve the 'fulfillment' value of the individual.
The idea force can use its sanctioning power to move
those thought formations that are aligned to the core
concept of 'value-centred living' and fulfillment and
make still or reject those thought formations that are fed
by 'fear', 'anxiety’, 'desire for compromised quicker
success', etc. And if a value or idea i1s not clear, it can
reach back to the pure mind for further clanty’,




¥ WY HEAT 46 ¥ S0 @eR &k I Sforer: : d 0
Pt s G- v wen 5 Whatis needed (or self-fulfillment?

ferd ST e, e e # e i it A, URATY o (010 TGhudh! SNavadhdl gl &/

H Hehfrad AGYRUN =K1 99T @) 98 =T 2| aufy, 9%

B ey 0 e W{Focus on values/ e T &H S &

sitfiga 2 5 =&l faam st ;
ST ‘o B frw ¥ mea-afxa ofas =B 21 o free (D) Stamping of the core concept

weifal 3t wfeaa afigyg & 9= & o= =9 QO gfem
e SmTer @, K afx e @ @ wn. afx e @ 2 (() goodthoughts/ﬁﬁ?ﬂﬁﬁ

af dm @ sfc s et fawaw wow @ v (d) Experience in life/oiad # 3vE @

. : )
ﬂmﬁmﬂ’:ﬁfﬂﬂaﬁ?@ﬁﬁlﬂmﬁmk ____M*\N /@

ara # Tw g Sftas @t quraw & weifaa ol st swes /




L G e

The thought of value-based life as tough can be How can an individual move away from
attributed to imaginary  formations  about  value-

ToT-3TMUTRA  Sftad hied AT §, T8 O centredness? .
foreifera & & fona wx smenfia §7 </ @S wAh Tea-higad % an H et

((g; being value- centret(ilglgf? %lﬁiﬁ g T = &t e 0T Tl %‘7
past experiences o ﬁl Ehiy (a) By freezing one's own thoughts of good life
ST & Hi = IS Wad & IR H N WE & U’ &l

(C) wild imaginations/3S5@d HETAI3 T

(D) the inclinations to be in a comfort zone T o
Y R4 & AT T : (b) By having nice thou 1ghts about value in life

Choose the correct option: N Sfad | w:ﬁ % IR 1 3 fER Wl

fifeRa & 9 @l faehey ?lef (c) By bemg clear about fulfillment of life

(a) (A) and (B)/(A) 3T (B) p Sfad & TRAN & ar § WY g

(b) (B)and (D)(B) 3R (D)  —_| d) By being fashionable about the core concept

(¢) (B) and (C)/(B) 3 (C) o of life/Siom &), T FEERT & aR A
(d) (C) and (D)/(C) 3R (D) O vh% \/




